# Global Existence and Nonexistence of Solution to a Nonlinear Wave Equation 

Nana Pan


#### Abstract

In this paper we focus on a nonlinear wave equation, we show that the solution blows up in finite time under certain conditions, and we obtain two results on the global existence of solution and large time behavior.


Keywords. Global existence, global nonexistence, decay rate
Mathematics Subject Classification (2000). Primary 35L70, secondary 35B30, 35B40, 47H20

## 1. Introduction

In this essay, we consider the following initial-boundary-value problem,

$$
\left\{\begin{array}{lc}
u_{t t}-\Delta u+g\left(u_{t}\right)+\left|u_{t}\right|^{m-1} u_{t}=u|u|^{p-1}, & (x, t) \in \Omega \times(0, T)  \tag{1}\\
u(x, t)=0, & (x, t) \in \Gamma \times(0, T) \\
u(x, 0)=u_{0}(x), u_{t}(x, 0)=u_{1}(x), & x \in \Omega
\end{array}\right.
$$

where $p>1, m \geq 1$, and $\Omega \subseteq R^{n}$ with smooth boundary. The function $g$ satisfies the following properties:

$$
\left\{\begin{array}{l}
g: R \rightarrow R \text { is a } C^{1} \text { function, nondecreasing, and } g(0)=0  \tag{2}\\
s g(s)>0, \text { for all } s \neq 0 \\
\exists k_{0}, k_{1}, \text { such that } k_{0} s \leq|g(s)| \leq k_{1}|s|, \text { for all } s \in R
\end{array}\right.
$$

For (1), a special case with $g\left(u_{t}\right)=a u_{t},(a>0)$ was considered in [4], where it is shown that the energy of the solution decays exponentially for $m>2$.

Some similar equations were studied recently in $[3,5-7,9]$. In particular, in [7], Zhou established blow-up result and time decay rate for the following equation:

$$
u_{t t}+a|u|^{m-1}-\phi \Delta u=b|u|^{p-1} u-\mu u, \quad x \in R^{n}, t>0 .
$$

[^0] Zhejiang, P. R. China; pannanamath@gmail.com

In [2], it is proved that the solution to (1) exists globally as long as $\left\|\nabla u_{0}\right\|_{L^{2}}$ is small. The main purpose of this paper is to establish global nonexistence result and decay rate for (1) by using the argument and method in [7].

In Section 2, we recall some preliminary results about equation (1). In Section 3, we establish global nonexistence criteria, and we discuss global existence and large time behavior in Section 4.

## 2. Preliminary

First, let us recall the following local existence theorem:
Theorem 2.1 (Theorem 2.1 from [2]). Assume that $m \geq 1$ and when $p>1$, as $n=1,2$; when $1<p \leq \frac{n}{n-2}$, as $n \geq 3$. Let $\left(u_{0}, u_{1}\right) \in H_{0}^{1}(\Omega) \times L^{2}(\Omega)$ be given, then the first equation of (1) has a unique solution $u \in C\left([0, T) ; H_{0}^{1}(\Omega)\right)$, $u_{t} \in C\left([0, T) ; L^{2}(\Omega)\right) \cap L^{m}(\Omega \times[0, T))$, for some $T$ small enough.

Remark 2.2. We can use Galerkin's method to prove the result (see [1]).
The supremum of all $T$ 's for which the solution exists on $\Omega \times[0, T)$ is called the lifespan of the solution to (1). The lifespan is denoted by $T^{*}$, if $T^{*}=\infty$, we say the solution is global, while it is nonglobal if $T^{*}<\infty$. We say that the solution blows up in finite time.

Lemma 2.3. Let $p>1$, as $n=1,2 ; 1<p \leq \frac{n}{n-2}$, as $n \geq 3$. Then there exists a positive constant $C>1$ depending only on $\Omega$ ( $C$ denotes a generic positive constant, which may be different from line to line), such that

$$
\begin{equation*}
\|u\|_{L^{p+1}}^{s} \leq C\left(\|\nabla u\|_{L^{2}}^{2}+\|u\|_{L^{p+1}}^{p+1}\right) \tag{3}
\end{equation*}
$$

with $2 \leq s \leq p+1$, for any $u \in H_{0}^{1}(\Omega)$, if $u$ is a solution constructed as in Theorem 2.1, then

$$
\begin{equation*}
\|u\|_{L^{p+1}}^{s} \leq C\left(|H(t)|+\left\|u_{t}\right\|_{L^{2}}^{2}+\|\nabla u\|_{L^{2}}^{2}+\|u\|_{L^{p+1}}^{p+1}\right), \tag{4}
\end{equation*}
$$

with $2 \leq s \leq p+1$ on $[0, T)$ where $H(t)=-E(t)$.
Proof. Suppose $\|u\|_{L^{p+1}} \leq 1$, by Sobolev embedding $\|u\|_{L^{p+1}} \leq C\|\nabla u\|_{L^{2}}$, then $\|u\|_{L^{p+1}}^{s} \leq\|u\|_{L^{p+1}}^{2} \leq C^{2}\|\nabla u\|_{L^{2}}^{2}$. When $\|u\|_{L^{p+1}}>1$, then $\|u\|_{L^{p+1}}^{s} \leq\|u\|_{L^{p+1}}^{p+1}$. So (3) and (4) follows from the definition of the energy corresponding to the solution.

If we let $l(t)=\frac{1}{2}\|u(., t)\|_{L^{2}}^{2}$, where $u$ is a solution of problem (1). We can get the derivative of $l(t)$ with respect to time

$$
\begin{equation*}
l^{\prime}(t)=\int_{R^{n}} u u_{t} d x \tag{5}
\end{equation*}
$$

which is well defined and one can get

$$
\begin{equation*}
l^{\prime \prime}(t)=\left\|u_{t}\right\|_{L^{2}}^{2}-\|\nabla u\|_{L^{2}}^{2}+\|u\|_{L^{p+1}}^{p+1}-\left(u, u_{t}\left|u_{t}\right|^{m-1}\right)_{L^{2}}-\int_{R^{n}} u g\left(u_{t}\right) d x \tag{6}
\end{equation*}
$$

almost everywhere in $[0, T)$.
Now we define the energy $E(t)$ for (1)

$$
\begin{equation*}
E(t)=\frac{1}{2}\left(\left\|u_{t}(t)\right\|_{L^{2}}^{2}+\|\nabla u(t)\|_{L^{2}}^{2}\right)-\frac{1}{p+1}\|u(t)\|_{L^{p+1}}^{p+1} \tag{7}
\end{equation*}
$$

Using condition (2), one can compute directly that

$$
\begin{equation*}
\frac{d}{d t} E(t)=-\int_{\Omega}\left(\left\|u_{t}\right\|^{m+1}+u_{t} g\left(u_{t}\right)\right) d x \leq 0 \tag{8}
\end{equation*}
$$

Inequality (8) tells us that the energy for the system is nonincreasing. We use $E(0)$ to denote the initial energy.

## 3. Global nonexistence

The first global nonexistence result for linear damping case, we can establish finite time blow up with nonpositive initial energy.

Theorem 3.1. Suppose $p>1$, as $n=1,2 ; 1<p \leq \frac{n}{n-2}$, when $n \geq 3$. If $E(0) \leq 0, \int_{R^{n}} u_{0} u_{1} d x \geq 0$, then the corresponding solution blows up in finite time.

Before going to the proof, we write down the following technique lemma.

Lemma 3.2. Suppose that $\Psi(t)$ is a twice continuously differential satisfying

$$
\left\{\begin{array}{l}
\Psi^{\prime \prime}(t)+\gamma \Psi^{\prime}(t) \geq C_{0}(t+L)^{\beta} \Psi^{1+\alpha}(t), \quad t>0, C_{0}>0, \alpha>0 \\
\Psi(0)>0, \Psi^{\prime}(0) \geq 0
\end{array}\right.
$$

where $C_{0}, L>0,-1<\beta \leq 0$ are constants. Then $\Psi(t)$ blows up in finite time. Moreover the blow up time can be estimated explicitly.

Remark 3.3. The proof of this lemma is easy, for simplicity, we omit it here.
One can see [8] for a similar proof.

Proof of Theorem 3.1. Now we consider $\Psi(t)=\frac{1}{2} \int_{R^{n}} u^{2}(x, t) d x$, one has $\Psi^{\prime}(t)=\int_{R^{n}} u u_{t} d x$. From (5) and (6) we have

$$
\begin{aligned}
\Psi^{\prime \prime}(t) & =\int_{R^{n}}\left|u_{t}\right|^{2} d x+\int_{R^{n}} u u_{t t} d x \\
& =\left\|u_{t}\right\|_{L^{2}}^{2}-\|\nabla u\|_{L^{2}}^{2}-\int_{R^{n}} u g\left(u_{t}\right) d x+\|u\|_{L^{p+1}}^{p+1}-\int_{R^{n}} u u_{t} d x \\
& =-2 E(t)+2\left\|u_{t}\right\|_{L^{2}}^{2}+\frac{p-1}{p+1}\|u\|_{L^{p+1}}^{p+1}-\Psi^{\prime}(t)-\int_{R^{n}} u g\left(u_{t}\right) d x \\
& \geq-2 E(0)+\frac{p-1}{p+1}\|u\|_{L^{p+1}}^{p+1}-\Psi^{\prime}(t)-C \Psi^{\prime}(t) \quad(\text { by condition (2)) } \\
& \geq-C_{1} \Psi^{\prime}(t)+\frac{p-1}{p+1}\|u\|_{L^{p+1}}^{p+1},
\end{aligned}
$$

where $C_{1}=C+1$. By Hölder's inequality, we obtain

$$
\int_{R^{N}}|u|^{2} d x \leq\left(\int_{R^{N}}|u|^{p+1}\right)^{\frac{2}{p+1}}\left(\int_{B(t+r)} 1 d x\right)^{\frac{p-1}{p+1}}
$$

where $r$ satisfies $\operatorname{supp}\left(u_{0}, u_{1}\right) \subset B(r), B(t+r)$ represents the ball with radius $t+r$. Therefore we have

$$
\Psi^{\prime \prime}(t) \geq-C_{1} \Psi^{\prime}(t)+\frac{p-1}{p+1} \cdot 2^{\frac{p+1}{2}} R_{N}^{\frac{1-p}{2}}(t+r)^{\frac{(1-p) N}{2}} \Psi(t)^{\frac{1+p}{2}}
$$

where $R_{N}$ denotes the volume of the unit sphere in $R^{N}$. Set $C=\frac{p-1}{p+1} \cdot 2^{\frac{p+1}{2}} R_{N}^{\frac{1-p}{2}}$, it is obviously that

$$
\Psi(t)>0, \quad \text { for all } t \geq 0 ; \quad \Psi^{\prime}(0)=\int_{R^{n}} u_{0} u_{1} \geq 0
$$

Then by Lemma 3.2, $\Psi(t)$ blows up in finite time. The proof is complete.
The second blow up result is
Theorem 3.4. Suppose $m>1$ and $1<p \leq \frac{n}{n-2}$, as $n \geq 2$ or $p>1$, as $n=2$. For $p \leq m$, the solution for (1) blows up in finite time if the initial energy is negative.

Proof. By the definition $H(t)=-E(t)$, we have

$$
\begin{equation*}
0<H(0) \leq H(t) \leq \frac{1}{p+1}\|u\|_{L^{p+1}}^{p+1} . \tag{9}
\end{equation*}
$$

We use the method of that in [7] and define $M(t)=H^{1-\alpha}(t)+\theta \int_{R^{n}} u u_{t} d x$, for $0<\alpha<\frac{p-1}{2(p+1)}$ and $\theta$ can be determined later. We can compute

$$
\begin{aligned}
M^{\prime}(t)= & (1-\alpha) H^{-\alpha}(t) H^{\prime}(t)+\theta\left\|u_{t}\right\|_{L^{2}}^{2}+\theta\|u\|_{L^{p+1}}^{p+1}-\theta\|\nabla u\|_{L^{2}}^{2} \\
& -\theta \int_{R^{n}} u g\left(u_{t}\right) d x-\theta \int_{R^{n}} u\left|u_{t}\right|^{m-1} u_{t} d x .
\end{aligned}
$$

By Young's inequality, we have

$$
\begin{equation*}
\int_{R^{n}} u\left|u_{t}\right|^{m-1} u_{t} d x \leq \frac{\delta^{m+1}}{m+1}\|u\|_{L^{m+1}}^{m+1}+\frac{m}{m+1} \delta^{-\frac{m+1}{m}}\left\|u_{t}\right\|_{L^{m+1}}^{m+1} . \tag{10}
\end{equation*}
$$

According to (10), it follows that

$$
\begin{aligned}
M^{\prime}(t) \geq & (1-\alpha) H^{-\alpha} H^{\prime}(t)-\frac{\theta \delta^{m+1}}{m+1}\|u\|_{L^{m+1}}^{m+1}-\frac{\theta m}{m+1} \delta^{-\frac{m+1}{m}}\left\|u_{t}\right\|_{L^{m+1}}^{m+1} \\
& +\theta\left\|u_{t}\right\|_{L^{2}}^{2}+\theta\|u\|_{L^{p+1}}^{p+1}-\theta\|\nabla u\|_{L^{2}}^{2}-\theta \int_{R^{n}} u g\left(u_{t}\right) d x-\left.\theta \int_{R^{n}} u u_{t}\right|^{m-1} u_{t} d x \\
\geq & \left((1-\alpha) H^{-\alpha}-\theta \frac{m}{m+1} \delta^{-\frac{m+1}{m}}\right) H^{\prime}(t)+\theta\left\|u_{t}\right\|_{L^{2}}^{2} \\
& +\theta\|u\|_{L^{p+1}}^{p+1}-\theta\|\nabla u\|_{L^{2}}^{2}-\theta \int_{R^{n}} u g\left(u_{t}\right) d x-\frac{\theta \delta^{m+1}}{m+1}\|u\|_{L^{m+1}}^{m+1} .
\end{aligned}
$$

If we let $\delta^{-\frac{m+1}{m}}=K H^{-\alpha}$, i.e., $\delta^{m+1}=K^{-m} H^{\alpha m}, K>0$ to be determined later. By (9) we obtain

$$
\begin{equation*}
H^{\alpha m}\|u\|_{L^{m+1}}^{m+1} \leq C\left(\frac{1}{p+1}\right)^{\alpha m}\|u\|_{L^{p+1}}^{m+1+\alpha m(p+1)} \tag{11}
\end{equation*}
$$

Therefore, from (11), the following inequalities hold true:

$$
\begin{aligned}
M^{\prime}(t) \geq & \left((1-\alpha)-\frac{\theta m}{m+1} K\right) H^{-\alpha} H^{\prime}(t)+\theta(p+1) H(t)+\frac{\theta(p-1)}{2}\|\nabla u\|_{L^{2}}^{2} \\
& +\frac{\theta(p+3)}{2}\left\|u_{t}\right\|_{L^{2}}^{2}-C \theta \int_{R^{n}} u u_{t} d x-\frac{\theta\left(\delta^{m+1}\right)}{m+1}\|u\|_{L^{m+1}}^{m+1} \\
\geq & \left((1-\alpha)-\frac{\theta m}{m+1} K\right) H^{-\alpha} H^{\prime}(t)+\theta(p+1) H(t)+\frac{\theta(p-1)}{2}\|\nabla u\|_{L^{2}}^{2} \\
& +\frac{\theta(p+3)}{2}\left\|u_{t}\right\|_{L^{2}}^{2}-C \frac{\theta \delta^{2}}{2}\|u\|_{L^{2}}^{2}-C \frac{\theta}{2 \delta^{2}}\left\|u_{t}\right\|_{L^{2}}^{2} \\
& -\theta C_{1} K^{-m}\left(H(t)+\|\nabla u\|_{L^{2}}^{2}+\left\|u_{t}\right\|_{L^{2}}^{2}+\|u\|_{L^{p+1}}^{p+1}\right)
\end{aligned}
$$

and hence

$$
\begin{aligned}
M^{\prime}(t) \geq & \left((1-\alpha)-\frac{\theta m}{m+1} K\right) H^{-\alpha} H^{\prime}(t)+\theta\left(\frac{p+7}{4}-C \frac{\delta^{-2}}{2}-C_{1} K^{-m}\right)\left\|u_{t}\right\|_{L^{2}}^{2} \\
& +\theta\left(\frac{p-1}{4}-C_{1} K^{-m}\right)\|\nabla u\|_{L^{2}}^{2}+\theta\left(\frac{p+3}{2}-C_{1} K^{-m}\right) H(t) \\
& +\theta\left(\frac{p-1}{2(p+1)}-C \frac{\delta^{2}}{2}-C_{1} K^{-m}\right)\|u\|_{L^{p+1}}^{p+1} .
\end{aligned}
$$

Letting $K$ large enough, there exists a constant $C_{2}>0$ and $\frac{p-1}{2(p+1)}-\frac{C \delta^{2}}{2}-C_{1} K^{-m}$ $\geq C_{2}$, where $C_{1}=\frac{C}{(p+1)^{\alpha m}(m+1)}$. Then we choose $\theta$ so small that

$$
\begin{equation*}
1-\alpha-\frac{\theta m}{m+1} K \geq 0, \quad \text { and } \quad M(0)=H^{1-\alpha}(0)+\theta \int_{R^{n}} u_{0} u_{1} d x>0 \tag{12}
\end{equation*}
$$

therefore, $M^{\prime}(t) \geq \theta C_{2}\left(H(t)+\|\nabla u\|_{L^{2}}^{2}+\left\|u_{t}\right\|_{L^{2}}^{2}+\|u\|_{L^{p+1}}^{p+1}\right)$.
On the other hand, by Young's inequality with $s=\frac{2}{1-2 \alpha} \leq p+1$, we get

$$
\begin{aligned}
\left|\int_{R^{n}} u u_{t} d x\right|^{\frac{1}{1-\alpha}} & \leq\|u\|_{L^{2}}^{\frac{1}{1-\alpha}}\left\|u_{t}\right\|_{L^{2}}^{\frac{1}{1-\alpha}} \\
& \leq C\|u\|_{L^{p+1}}^{1-\alpha}\left\|u_{t}\right\|_{L^{2}}^{\frac{1}{1-\alpha}} \\
& \leq C\left(\|u\|_{L^{p+1}}^{s}+\left\|u_{t}\right\|_{L^{2}}^{2}\right) \\
& \leq C\left(H(t)+\|\nabla u\|_{L^{2}}^{2}+\left\|u_{t}\right\|_{L^{2}}^{2}+\|u\|_{L^{p+1}}^{p+1}\right)
\end{aligned}
$$

then

$$
\begin{aligned}
M^{\frac{1}{1-\alpha}}(t) & =\left(H^{1-\alpha}(t)+\theta \int_{R^{n}} u u_{t} d x\right)^{\frac{1}{1-\alpha}} \\
& \leq 2^{\frac{1}{1-\alpha}}\left(H(t)+\left|\int_{R^{n}} u u_{t} d x\right|^{\frac{1}{1-\alpha}}\right) \\
& \leq C\left(H(t)+\|\nabla u\|_{L^{2}}^{2}+\left\|u_{t}\right\|_{L^{2}}^{2}+\|u\|_{L^{p+1}}^{p+1}\right) .
\end{aligned}
$$

So it follows that $M^{\prime}(t) \geq C_{0} M^{\frac{1}{1-\alpha}}(t)$, where $C_{0}$ is a constant depending on $C$, $C_{2}$ and $\theta$. For (12), $M(t)$ goes to infinity as $t$ tends to $\frac{1-\alpha}{C_{0} \alpha} M^{\frac{\alpha}{\alpha-1}}(0)$.

## 4. Global existence and large time behavior

In order to establish the decay rate for a solution with positive initial energy, let us recall the lemma first:

Lemma 4.1 (Lemma 5.2 from [7]). Let $\phi(t)$ be a nonincreasing and nonnegative function defined on $[0, T], T>1$, satisfying $\phi^{1+r}(t) \leq k_{0}(\phi(t)-\phi(t+1))$, for all $t \in[0, T], k_{0}>1$ and $r \geq 0$. Then we have for each $t \in[0, T]$,

$$
\begin{cases}\phi(t) \leq \phi(0) e^{-k(t-1)^{+}}, & r=0 \\ \phi(t) \leq\left(\phi(0)^{-r}+k_{0} r(t-1)\right)^{-\frac{1}{r}}, & r>0\end{cases}
$$

where $(t-1)^{+}=\max (t-1,0)$ and $k=\ln \left(\frac{k_{0}}{k_{0}-1}\right)$.
The main theorem in this section reads:
Theorem 4.2. Assume that $m \geq 1$ and $p>1$, as $n=1,2 ; 1<p \leq \frac{n}{n-2}$, as $n \geq 3$. Suppose that $\left\|\nabla u_{0}\right\|_{L^{2}}^{2}<\lambda_{0}$ and $E(0)<E_{0}$, where $\lambda_{0}=k_{0} \frac{-2(p+1)}{p-1}$, $E_{0}=\left(\frac{1}{2}-\frac{1}{p+1}\right) \lambda_{0}$, here $k_{0}$ is the constant of the Sobolev embedding $\|u\|_{L^{p+1}} \leq$ $k_{0}\|\nabla u\|_{L^{2}}$, for $u \in H_{0}^{1}(\Omega)$. Then the solution is global and the energy of problem (1) decays as

$$
\begin{cases}E(t) \leq E(0) e^{-k(t-1)^{+}}, & t \geq 0, \text { for } m=1  \tag{13}\\ E(t) \leq\left(E(0)^{\frac{m-1}{2}}+\frac{(m-1) C}{2}(t-1)^{+}\right)^{-\frac{2}{m-1}}, & t \geq 0, \text { for } m>1\end{cases}
$$

Remark 4.3. In [7], an argument to show the solution for problem (1) exists globally and decays under some condition. Theorem 4.2 also shows that the solution exists globally under some similar conditions, and the method used here is simpler than that in [2].

Proof. First, by the decreasing of energy $\mathrm{E}(\mathrm{t})$. We have $E(t) \leq E(0)<$ $E_{0}=\left(\frac{1}{2}-\frac{1}{p+1}\right) \lambda_{0}$. We claim that
$\|\nabla u(t)\|_{L^{2}}^{2}<\lambda_{0}, \quad$ and $\quad\|\nabla u(t)\|_{L^{2}}^{2}+\left\|u_{t}\right\|_{L^{2}}^{2} \leq \frac{2(p+1)}{p-1} E(t) \leq \frac{2(p+1)}{p-1} E(0)$,
for all $t \geq 0$.
By the definition of $E(t)$ and Sobolev embedding, we can conclude that

$$
E(t) \geq \frac{1}{2}\|\nabla u(t)\|_{L^{2}}^{2}-\frac{1}{p+1}\|u(t)\|_{L^{p+1}}^{p+1} \geq \frac{1}{2}\|\nabla u(t)\|_{L^{2}}^{2}-\frac{k_{0}^{p+1}}{p+1}\|\nabla u(t)\|_{L^{2}}^{p+1} .
$$

Now if we let $f(\xi)=\frac{1}{2} \xi-\frac{k_{0}^{p+1}}{p+1} \xi^{\frac{p+1}{2}}$, then $E(t) \geq f(\xi)=\frac{1}{2} \xi-\frac{k_{0}^{p+1}}{p+1} \xi^{\frac{p+1}{2}}$, with $\xi=\|\nabla u(t)\|_{L^{2}}^{2}$. It is easily to verify that the function $f(\xi)$ have the following properties:

$$
\left\{\begin{array}{l}
f(\xi) \text { is strictly increasing on }\left[0, \lambda_{0}\right)  \tag{14}\\
f(\xi) \text { takes its maximum value } E_{0} \equiv\left(\frac{1}{2}-\frac{1}{p+1}\right) \lambda_{0} \text { at } \lambda_{0} \\
f(\xi) \text { is strictly decreasing on }\left(\lambda_{0},+\infty\right)
\end{array}\right.
$$

Since $E_{0}>E(0) \geq E(t) \geq f\left(\|\nabla u(t)\|_{L^{2}}^{2}\right)$, for all $t \geq 0$. By virtue of (14), there is no time $t^{*}$, such that $\left\|\nabla u\left(t^{*}\right)\right\|_{L^{2}}^{2}=\lambda_{0}$. By the continuity of $\|\nabla u(t)\|_{L^{2}}^{2}$-norm, we have

$$
\begin{equation*}
\|\nabla u(t)\|_{L^{2}}^{2}<\lambda_{0}, \quad \text { for all } t \geq 0 \tag{15}
\end{equation*}
$$

From (15) and Sobolev embedding, we have

$$
\frac{1}{p+1}\|u(t)\|_{L^{p+1}}^{p+1} \leq \frac{k_{0}^{p+1}}{p+1}\left[\|\nabla u(t)\|_{L^{2}}^{2}\right]^{\frac{p-1}{2}} \leq \frac{1}{p+1}\|\nabla u(t)\|_{L^{2}}^{2} .
$$

Moreover

$$
E(t) \geq \frac{1}{2}\left\|u_{t}\right\|_{L^{2}}^{2}+\left(\frac{1}{2}-\frac{1}{p+1}\right)\|\nabla u(t)\|_{L^{2}}^{2} \geq \frac{p-1}{2(p+1)}\left(\|\nabla u(t)\|_{L^{2}}^{2}+\left\|u_{t}\right\|_{L^{2}}^{2}\right) .
$$

By continuation argument, we get that the local solution constructed by Theorem 2.1 exists globally.

Then we pay attention to large time behavior. By Sobolev embedding and the initial condition, we have

$$
\|u(\cdot, t)\|_{L^{p+1}}^{p+1} \leq k_{0}^{p+1}\|\nabla u(t)\|_{L^{2}}^{p+1}<k_{0}^{p+1}\left(\lambda_{0}\right)^{\frac{p-1}{2}}\|\nabla u(t)\|_{L^{2}}^{2}<\theta\|\nabla u(t)\|_{L^{2}}^{2},
$$

for all $t \geq 0$, where we define $0 \leq \theta<1$ as $\theta=k_{0}^{p+1}\left(\lambda_{0}\right)^{\frac{p-1}{2}}$. Therefore, if we let $I(t)=\|\nabla u(t)\|_{L^{2}}^{2}-\|u(t)\|_{L^{p+1}}^{p+1}$, then due to Sobolev embedding inequality, it follows that $I(t)>(1-\theta)\|\nabla u(t)\|_{L^{2}}^{2}$, for all $t \geq 0$. Now we set

$$
F^{m+1}(t)=\int_{t}^{t+1}\left\|u_{t}(, s)\right\|_{L^{m+1}}^{m+1} d s+\int_{t}^{t+1} \int_{\Omega} u_{t} g\left(u_{t}\right) d x d s=E(t)-E(t+1),
$$

and

$$
G^{m+1}(t)=F^{m+1}(t)-\int_{t}^{t+1} \int_{\Omega} u_{t} g\left(u_{t}\right) d x d s=\int_{t}^{t+1}\left\|u_{t}(, s)\right\|_{L^{m+1}}^{m+1} d s<F^{m+1}(t)
$$

Integrating $I(t)$ on $\left[t_{1}, t_{2}\right]$, we have

$$
\begin{aligned}
\int_{t_{1}}^{t_{2}} I(s) d s & =\int_{t_{1}}^{t_{2}}\left(\|\nabla u(t)\|_{L^{2}}^{2}-\|u(t)\|_{L^{p+1}}^{p+1}\right) d s \\
& =\int_{t_{1}}^{t_{2}}\left(2 E(s)-\left\|u_{t}\right\|_{L^{2}}^{2}+\frac{1}{p+1}\|u(t)\|_{L^{p+1}}^{p+1}-\|u(t)\|_{L^{p+1}}^{p+1}\right) d s \\
& =\int_{t_{1}}^{t_{2}} 2 E(s) d s-\int_{t_{1}}^{t_{2}}\left\|u_{t}\right\|_{L^{2}}^{2}-\frac{p-1}{p+1} \int_{t_{1}}^{t_{2}}\|u(t)\|_{L^{p+1}}^{p+1} \\
& \leq \int_{t_{1}}^{t_{2}} 2 E(s) d s+C G^{2}(t) \quad(C \text { is a generic constant }) \\
& \leq C\left[\int_{t_{1}}^{t_{2}} E(s) d s+F^{2}(t)\right] .
\end{aligned}
$$

Due to (7), the following inequalities hold

$$
\begin{aligned}
\int_{t_{1}}^{t_{2}} E(s) d s= & \frac{1}{2} \int_{t_{1}}^{t_{2}}\left\|u_{t}\right\|_{L^{2}}^{2} d s+\frac{1}{2} \int_{t_{1}}^{t_{2}}\|\nabla u\|_{L^{2}}^{2} d s-\frac{1}{p+1} \int_{t_{1}}^{t_{2}}\|u(t)\|_{L^{p+1}}^{p+1} d s \\
= & \frac{1}{2} \int_{t_{1}}^{t_{2}}\left\|u_{t}\right\|_{L^{2}}^{2} d s+\frac{1}{2} \int_{t_{1}}^{t_{2}}\|\nabla u\|_{L^{2}}^{2} d s+\frac{1}{p+1} \int_{t_{1}}^{t_{2}}\|\nabla u\|_{L^{2}}^{2} d s \\
& -\frac{1}{p+1} \int_{t_{1}}^{t_{2}}\|\nabla u\|_{L^{2}}^{2} d s-\frac{1}{p+1} \int_{t_{1}}^{t_{2}}\|u(t)\|_{L^{p+1}}^{p+1} d s \\
= & \frac{1}{2} \int_{t_{1}}^{t_{2}}\left\|u_{t}\right\|_{L^{2}}^{2} d s+\left(\frac{1}{2}-\frac{1}{p+1}\right) \int_{t_{1}}^{t_{2}}\|\nabla u\|_{L^{2}}^{2} d s+\frac{1}{p+1} \int_{t_{1}}^{t_{2}} I(s) d s \\
\leq & C G^{2}(t)+\left(\frac{1}{p+1}+\frac{p-1}{2(p+1)(1-\theta)}\right) \int_{t_{1}}^{t_{2}} I(s) d s \\
\leq & C G^{2}(t)+C \int_{t_{1}}^{t_{2}} I(s) d s
\end{aligned}
$$

So $\int_{t_{1}}^{t_{2}} E(s) d s \leq C G^{2}(t)<C F^{2}(t)$. On the other hand, from the nonincreasing property of $E(t)$, one has $\int_{t_{1}}^{t_{2}} E(s) d s \geq \frac{1}{2} E\left(t_{2}\right)$. Therefore,

$$
\begin{align*}
E(t) & =E\left(t_{2}\right)+\int_{t}^{t_{2}}\left\|u_{t}\right\|_{L^{m+1}}^{m+1} d s+\int_{t}^{t_{2}} \int_{\Omega} u_{t} g\left(u_{t}\right) d s \\
& \leq E\left(t_{2}\right)+\int_{t}^{t_{2}}\left\|u_{t}\right\|_{L^{m+1}}^{m+1} d s+C \int_{t}^{t_{2}}\left\|u_{t}\right\|_{L^{2}}^{2} d s \\
& \leq 2 \int_{t_{1}}^{t_{2}} E(s) d s+\int_{t}^{t_{2}}\left\|u_{t}\right\|_{L^{m+1}}^{m+1} d s+C \int_{t}^{t_{2}}\left\|u_{t}\right\|_{L^{2}}^{2} d s  \tag{16}\\
& \leq C\left(G^{2}(t)+G^{m+1}(t)+G^{2}(t)\right) \\
& \leq C\left(F^{2}(t)+F^{m+1}(t)\right) .
\end{align*}
$$

If $m=1,(16)$ gives

$$
\begin{equation*}
E(t) \leq C F^{2}(t)=C(E(t)-E(t+1)) \tag{17}
\end{equation*}
$$

then the first inequality in (13) follows from (17) and Lemma 4.1.
If $m>1$, since $F^{m+1}(t)=E(t)-E(t+1) \leq E(0)$, inequality (16) gives

$$
E(t) \leq C\left(F^{2}(t)+F^{m+1}(t)\right) \leq C\left(1+E(0)^{\frac{m-1}{m+1}}\right) F^{2}(t) \leq C F^{2}(t)
$$

which implies

$$
\begin{equation*}
E^{\frac{m+1}{2}}(t) \leq C F^{m+1}(t) \leq C(E(t)-E(t+1)) \tag{18}
\end{equation*}
$$

Then the second inequality in (13) following from (18) and Lemma 4.1. This finishes the proof.

## 5. Acknowledgment

The author thanks Professor Yong Zhou for enthusiastic guidance and constant encouragement. Pan also thanks to the referee for his/her careful reading and constructive suggestions on the manuscript, which greatly improved the paper. This work is partially supported by ZJNSF (Grant No. R6090109) and NSFC (Grant No. 10971197).

## References

[1] Agre, K. and Rammaha, M. A., System of nonlinear wave equation with damping and source terms. Diff. Int. Equ. 19 (2006)(11), 1235 - 1270.
[2] Feng, H. and Li, S., Global existence of solution to nonlinear wave equation with damping and source (submitted).
[3] Liu, X. and Zhou, Y., Global nonexistence of solutions to a semilinear wave equation in the Minkowski space. Appl. Math. Lett. 21 (2008)(8), $849-854$.
[4] Messaoudi, S. A., Blow up and global existence in a nonlinear viscoelastic wave equation. Math. Nachr. 260 (2003), $58-66$.
[5] Nakao, M., Asymptotic stability of the bounded or almost periodic solution of the wave equation with nonlinear damping terms. J. Math. Anal. Appl. 58 (1977)(2), 336 - 343.
[6] Todorova, G., Cauchy problem for a nonlinear wave equation with damping and source terms. Nonlin. Anal. Ser. A: Theory Methods 41 (2000)(7-8), 891-905.
[7] Zhou, Y., Global existence and nonexistence for a nonlinear wave equation with damping and source terms. Math. Nachr. 278 (2005)(11), 1341 - 1358.
[8] Zhou, Y., A blow up result for a nonlinear wave equation with damping and vanishing initial energy in $R^{N}$. Appl. Math. Lett. 18 (2005)(3), 281 - 286.
[9] Zhou, Y., Global nonexistence for a quasilinear evolution equation with a generalized Lewis function. Z. Anal. Anw. 24 (2005)(1), 179 - 187.

Received March 22, 2010; revised September 27, 2010


[^0]:    N. Pan: Department of Mathematics, Zhejiang Normal University, Jinhua 321004,

